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En vektløfter løfter en vekt opp fra gulvet. 
Mens han løfter den:

1. gjør han et positivt arbeid på vekten, og vekten gjør et positivt arbeid på ham.
2. gjør han et negativt arbeid på vekten, og vekten gjør et positivt arbeid på ham.
3. gjør han et positivt arbeid på vekten, og vekten gjør et negativt arbeid på ham.
4. gjør han et negativt arbeid på vekten, og vekten gjør et negativt arbeid på ham.

Studentene: ChatGPT: 3
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Du beveger en kasse med masse m 1 meter til høyre, og 
tilbake igjen 1 meter til venstre. Friksjonskraften er Fd = 
µdN. For den totale bevegelsen gjør friksjonskraften:

1. Positivt arbeid på kassen.
2. Negativt arbeid på kassen.
3. Ikke noe arbeid på kassen.

Studentene: ChatGPT: 3



ChatGPT and Misconceptions

Students have certain misconceptions about science
ChatGPT displays these same misconceptions about science

Misconception:
Work depends on 
total displacement



A Stable Misconception
What about the fact that the box and ground become warm while it is being pushed?

The fact that the box and ground become warm indicates that some of the work done on 
the box by the person pushing it has been dissipated as heat due to the friction between 
the box and the ground. This is an example of mechanical energy being converted to 
thermal energy.

[…]

If the work due to friction is negative during the first movement and negative during the 
second, how can it be zero total?

I apologize for the mistake in my previous response. You are correct that the work done 
by friction during the first and second movements is negative, not positive during the 
second movement. Therefore, the net work done by friction on the box over the entire 
motion is indeed negative.



ChatGPT is no oracle

Image: Warner Bros. Pictures



ChatGPT is a Representation
…of a Representation



~8400 Misconceptions-based research articles 
as of 2009



How do we use ChatGPT in instruction?

ChatGPT is…
• Good at summarizing

text and information
• Bad at providing 

accurate information



The negative work done during the first 
movement is exactly offset by the 

positive work done during the second 
movement. As a result, the net work 
done by the frictional force over the 

entire motion is zero.



ChatGPT as a errorful dialogue partner

I apologize for the mistake in my previous 
response. You are correct that the work 

done by friction during the first and 
second movements is negative, not 

positive during the second movement.

If the work due to friction is negative during 
the first movement and negative during the 

second, how can it be zero total?



THANK YOU!


	KI i undervisning: ChatGPT and active learning in science
	Lysbildenummer 2
	Lysbildenummer 3
	                          
	ChatGPT and Misconceptions
	A Stable Misconception
	ChatGPT is no oracle
	ChatGPT is a Representation
	Lysbildenummer 9
	How do we use ChatGPT in instruction?
	Lysbildenummer 11
	ChatGPT as a errorful dialogue partner
	Thank You!

